]	PLANT ENT	<u> TERPRISES</u>	PRODUCTIC	DN		
Сгор	Number of Producers	Acres	Yield per Acre		Total Production	Units of Measure	Gross Farm Value
COTTON							
Lint - Non-irrigated		8,804.0	650.00		5,722,600	lbs.	\$3,147,430
Seed - Non-irrigated		8,804.0	1,040.00		9,156,160	lbs.	\$457,808
Cotton (Total)	9	8,804.0					\$3,605,238
FORESTRY							
Pulpwood							
Hardwood					48,472	cords	
Pulpwood (Total)					48,472		
Saw Timber							
Hardwood					4,443,089	board feet	
Saw Timber (Total)					4,443,089		
Total Pulpwood, Chip & Saw, Saw Timber FOB Mill	2						\$5,013,135
Total Forestry Stumpage							\$2,098,732
Christmas Trees	*				00	trees	\$2,098,732
Forestry (Total)					90	uces	\$5,016,735
FRUITS							\$5,010,755
Strawberries	*	5.6	1,910.00		10,696	flate	\$96,264
Fruits (Total)		5.6	1,910.00		10,070	nats	\$96,264
FEED GRAINS		5.0					\$70,204
Corn	7	10,215.0	152.00		1,552,680	bu	\$3,524,584
Grain Sorghum	*	525.0	72.00		37,800		\$136,458
Oats	*	188.0	62.00		11,656		\$20,048
Feed Grains (Total)		10,928.0	02.00		11,000	<i></i>	\$3,681,090
GREENHOUSE VEGETABLE	ES	10,720.0					\$2,001,090
Tomatoes	*	13,500.0	6 60	Yield / sq. ft.	89,100	lbs.	\$120,285
Greenhouse Vegetables (Total) HAY FOR SALE		13,500.0	0.00		0,100		\$120,285

Page 1 of 7

PLANT ENTERPRISES PRODUCTION						
	Number of		Yield per	Total	Units of	Gross Farm
Crop	Producers	Acres	Acre	Production	Measure	Value
HAY FOR SALE						
Grass	12	1,260.0	3.60	4,536	tons	\$226,800
Hay for Sale (Total)		1,260.0				\$226,800
HOME GARDENS	1,125	,				\$337,500
NURSERY CROPS						
Fruit and Nut Trees	*				acre	\$32,000
Floraculture & Bedding	*				acre	\$137,500
Plants						
Woody Ornamentals	*				acre	\$167,000
Foliage Plants	*				acre	\$10,000
Nursery Crops (Total)						\$346,500
PECANS						-
Improved	68	1,370.0	124.00	169,880	lbs.	\$220,844
Native	2,300	4,825.0	100.00	482,500	lbs.	\$482,500
Pecans (Total)		6,195.0				\$703,344
RICE	*	2,323.0	76.00	176,548	cwt.	\$1,412,384
SOYBEANS	60	69,234.0	40.00	2,769,360	bu.	\$17,197,726
SUGARCANE		,				
Raw Sugar	34	32,119.0	6,540.00	210,058,260	lbs.	\$25,522,079
Molasses		32,119.0	196.00	6,295,324	gal.	\$912,822
Sugarcane (Total)		32,119.0			•	\$26,434,901
VEGETABLES		,				
Beets	*	2.0	430.00	860	doz. bunches	\$6,020
Broccoli (Fresh)	*	3.5	415.00	1,452	cartons (20	\$21,780
					lbs.)	
Cabbage						
Fresh	6	8.0	650.00	5,200	sacks (50 lbs.)	\$36,400
Cabbage (Total)		8.0				\$36,400

Page 2 of 7

	PLANT ENTERPRISES PRODUCTION						
	Number of		Yield per	Total	Units of	Gross Farm	
Crop	Producers	Acres	Acre	Production	Measure	Value	
VEGETABLES							
Cantaloupe	*	1.0	100.00	100	cartons (40 lbs.)	\$1,500	
Carrots	*	1.0	430.00	430	doz. bunches	\$3,010	
Cauliflower	*	3.0	375.00	1,125	cartons (20 lbs.)	\$16,875	
Collards							
Fresh	*	2.0	490.00	980	doz. bunches	\$6,860	
Collards (Total)		2.0				\$6,860	
Cucumber							
Fresh	*	2.0	360.00	720	bu. (50 lbs.)	\$7,200	
Cucumber (Total)		2.0				\$7,200	
Eggplant	*	2.0	600.00	1,200	bu. (33 lbs.)	\$18,000	
Garlic	*	2.0	6,800.00	13,600	lbs.	\$54,400	
Irish Potatoes							
Fresh	*	10.0	178.00	1,780	cwt.	\$62,300	
Irish Potatoes (Total)		10.0				\$62,300	
Lima Beans							
Fresh	*	2.0	38.00	76	bu. (32 lbs.)	\$2,660	
Lima Beans (Total)		2.0				\$2,660	
Mustard (Fresh)	*	6.0	605.00		doz. bunches	\$25,410	
Okra (Fresh)	*	4.0	235.00	940	bu.	\$23,500	
Onions	*	6.0	180.00	1,080	bag (50 lbs.)	\$27,000	
Green Onions	*	4.5	1,475.00	6,637	lbs.	\$13,274	
Peppers							
Banana	*	3.0	335.00	1,005	bu. (25 lb.)	\$15,075	
Bell	*	4.0	940.00		bu. (28 lb.)	\$56,400	
Cayenne (Processing)	*	0.5	80.00	40	cwt.	\$1,000	

Page 3 of 7

		PLANT EN	<u>FERPRISES PROD</u>	UCTION		
	Number of		Yield per	Total	Units of	Gross Farm
Crop	Producers	Acres	Acre	Production	Measure	Value
VEGETABLES						
Jalapeno	*	4.0	385.00	1,540		\$23,100
Tabasco Green (Processing)	*	1.0	38.00	38	cwt.	\$2,242
Tabasco Red (Processing)	*	1.0	36.00	36	cwt.	\$2,520
Yellow Hots (Fresh)	*	1.0	325.00	325	bu. (25 lbs.)	\$4,875
Peppers (Total)		14.5				\$105,212
Pumpkin (Fresh)	*	4.0	190.00	760	cwt.	\$15,200
Pumpkin - Cushaw	*	5.0	290.00	1,450	cwt.	\$29,000
Shallots	*	4.0	1,450.00	5,800	doz. bunches	\$34,800
Snap Beans (Fresh)	*	5.0	120.00	600	bu. (30 lbs.)	\$15,000
Southern Peas (Fresh)	*	6.0	95.00	570	bu. (24 lbs.)	\$14,250
Spinach (Fresh)	*	2.0	136.00	272	bu. (25 lbs.)	\$6,800
Squash (Fresh)						
Yellow Squash	*	4.0	318.00	1,272	bu. (45 lbs.)	\$19,080
Zucchini Squash	*	4.0	310.00	1,240	bu. (45 lbs.)	\$14,880
Winter Squash	*	4.0	290.00	1,160	bu. (45 lbs.)	\$17,400
Squash (Fresh) (Total)		12.0				\$51,360
Sweet Corn (Fresh)	15	110.0	727.00	79,970	doz. ears	\$279,895
Tomatoes (Field)	*	15.0	2,090.00	31,350	lugs (20 lbs.)	\$564,300
Turnips (Fresh)	*	2.0	585.00	1,170	doz. bunches	\$8,190
Vegetables (Total)		238.5				\$1,450,196
WHEAT	52	22,793.0	58.00	1,321,994	bu.	\$4,296,481
TOTAL ALL PLANT ENTERI	PRISES					\$64,925,443

FISHERIES & WILDLIFE ENTERPRISES PRODUCTION							
Fisheries	Number of Producers	Units of Production		Total Production	Units of Measure	Gross Farm Value	
AQUACULTURE							
Crawfish (Farm)	12	2,280	Acres in Prod.	386,000	lbs.	\$231,600	
Catfish (Farm)	*	8	Acres in Prod.	435	lbs.	\$296	
Aquaculture (Total)						\$231,896	
FRESHWATER FISHERIES							
Crawfish (Wild) **	60			245,000	lbs.	\$142,100	
Freshwater Finfish **	8			28,390	lbs.	\$9,085	
Freshwater Fisheries (Total)						\$151,185	
FUR ANIMALS				146	pelts	\$1,072	
ALLIGATORS (WILD)				1,687	<u> </u>	\$35,438	
HUNTING LEASES				-			
All Other Game	57	51,000	No. Acres		acre	\$280,500	
		,	Leased				
Hunting Leases (Total)						\$280,500	
TOTAL ALL FISHERIES & V	WILDLIFE ENTERPRISES					\$700,090	

** The marine, freshwater and oyster data presented here are for the year 2003 rather than 2004. Release of fisheries landings data by the collecting agencies occurs 4-5 months after the fact. Another reporting system was used in previous years, so this year's data are not directly comparable to that of previous years.

ANIMAL ENTERPRISES PRODUCTION						
Animal	Number of Producers	Units of Production	Total Production	Units of Measure	Gross Farm Value	
CATTLE & CALVES						
Steer Calves						
300-400 lbs.			1,280	head	\$566,899	
400-500 lbs.			1,804	head	\$910,677	
500-600 lbs.			1,926	head	\$1,076,778	
600-700 lbs.			728	head	\$463,736	
Steer Calves (Total)					\$3,018,091	
					Page 5 of 7	

		AL ENTERPRISES PRODU	CTION		
Animal	Number of Producers	Units of Production	Total Production	Units of	Gross Farm Value
	Producers	Production	Production	Measure	value
CATTLE & CALVES					
Heifer Calves					
300-400 lbs.				head	\$324,548
400-500 lbs.			1,900		\$883,643
500-600 lbs.			1,880		\$992,330
600-700 lbs.			250	head	\$149,500
Heifer Calves (Total)					\$2,350,020
Yearling Cattle					
600-700 lbs.			672	head	\$428,064
700-800 lbs.			444	head	\$306,360
Yearling Cattle (Total)					\$734,424
Cow-Calf Pairs			365	pair	\$346,750
Cull Cows			1,980		\$813,057
Cull Bulls			95	head	\$87,253
Cattle & Calves (Total)	101	19,144 No. Cows			\$7,349,595
HORSES					
Brood Mares					
Race Horses	*	21 No. Brood	Mares 18	head	\$144,000
Show Horses	10	32 No. Brood	Mares 17	head	\$59,500
Recreation Horses	38	215 No. Brood	Mares 62	head	\$93,000
Brood Mares (Total)					\$296,500
Stud Fees					,
Race Horses		5 No. Stallion	ns 30	mares bred	\$60,000
Show Horses		17 No. Stallion	ns 50	mares bred	\$75,000
Recreation Horses		31 No. Stallion	ns 70	mares bred	\$14,000
Stud Fees (Total)					\$149,000
Race Horses	*		12	head	\$120,000
Show Horses	31			head	\$196,000

ANIMAL ENTERPRISES PRODUCTION

Page 6 of 7

Animal	Number of Producers	Units of Production	Total Production	Units of Measure	Gross Farm Value
HORSES					
Recreation Horses	90		120	head	\$180,000
Horses (Total)	<i>,</i> ,		120		\$941,500
GOATS					<i>47</i> - 9 -
Show Goats			29	head	\$5,365
Slaughter Goats			30	head	\$3,150
Stocker Goats			27	head	\$2,295
Cull Goats			10	head	\$600
Goats (Total)	*	62 No. Does			\$11,410
SWINE					
Show Pigs			60	head	\$19,800
Feeder Pigs			80	head	\$3,680
Slaughter Hogs			197	head	\$30,732
Culls			25	head	\$2,800
Swine (Total)	*	50 No. Sows			\$57,012
TOTAL ALL ANIMAL I	ENTERPRISES				\$8,359,517
POINTE COUPEE PA	ARISH TOTAL				\$73,985,049